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АНГЛИЙСКИЙ ЯЗЫК

	 1. Составьте слово из предложенных букв. o, e, d, i, n, u, c, a, t.

A) caduetion.

B) education.

C) teaducion.

D) aducetion.

E) edociaten. 

	 2. Выберите эквивалент для следующего предложения: 

Мы возили отца в театр. 

A) I prefer theatre. 

B) We shall take you there. 

C) We often take him to the theatre. 

D) We took the father out to the theatre. 

E) He likes being taken to the theatre. 

	 3. Выберите правильный вариант чтения порядкового числительного: “93”.

A) the ninety-threeth

B) the ninety third

C) the ninety-three

D) the ninety and three

E) the ninetieth third

	 4. Выберите правильную сравнительную степень прилагательного.

Prices go up and up. Everything gets … expensive.

A) least

B) less

C) the most

D) most

E) more 

	 5. Выберите правильный вариант сказуемого:

There … twelve months in a year.

A) Be

B) Been

C) Was

D) Is

E) Are

	 6. Образуйте прилагательное от слова «Rain»:

A) Rainly.

B) Rainness.

C) Rainless.

D) Rainous

E) Rainy. 

	 7. Закончите предложение: The letter “e” is pronounced in …

A) “decided”

B) “played”

C) “helped”


D) “talked”

E) “lived”

	 8. Выберите верное начало пословицы:

______ is the sports of kings.

A) Art

B) Hunt

C) War

D) Golf

E) Song 

	 9. Без артикля всегда употребляется существительное:

A) City

B) Russia

C) Netherlands

D) USA

E) UK

	10. Выберите нужный предлог: Rely …

A) in
B) to

C) for

D) with

E) on

	11. Выберите правильный вариант:

cпорить

A) argumentative.

B) argument.

C) argue.

D) argumentation.

E) arguable. 

	12. Выберите английский эквивалент для слова, стоящего в скобках:

He needs (много) money to continue his studies.

A) much.

B) many.

C) little.

D) -.

E) few. 

	13. Форма множественного числа отличается от остальных в слове:

A) Animal.

B) Body.

C) Horse.

D) Tooth.

E) Eye. 

	14. Дополните предложение::

How long __ he ___ in Astana?

A) have / been living

B) shall / have lived

C) had /lived

D) have/lived

E) has/ been living 

	15. Закончите предложение: If I … in London I … to the Westminster Abbey.

A) were / will go

B) will be / go

C) would be / will go

D) am / shall go

E) will be / will go 

	16. Закончите предложение: … means the state of having good fortune or success.

A) Prosperity …

B) Advantage ...

C) Introduction …

D) Possibility …

E) Growing … 

	17. Закончите предложение: I like Kazakh …

A) products

B) table

C) cuisine

D) kitchen

E) meal

	18. Закончите предложение: We …to take an exam at the end of the course

A) can

B) must

C) don’t need 

D) should

E) mustn’t

	19. Выберите правильный вариант глагола:

If I … a lot of money, I’d travel around the world.

A) Had.

B) Has.

C) Shall have.

D) Would have.

E) Have. 

	20. Закончите предложение: 

Oxford street is famous for Selfridges. It is … 

A) the Queen’s residence in London

B) one of the largest department stores in London.

C) one of the most popular theatres in London.

D) the largest cinema in London.

E) one of the largest museums in London. 
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